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Date : 30-08-2015

Time : 1 hour Std. VIII & IX Maximum Marks : 50
&% : 1w ; wspoTTT : 50
Instructions  : 1)  Each question carries 2 Marks.

2)  Answers should be written with Pen.

3)  Cancelled and overwritten answer will be not considered.

4)  Answer should be written in box provided after each question.
AT : 1) uess gyATen 2 T ST,

2) St yneA femeE.

3) wrEEEt shfor frEEEt awt e Seeht s S

4) uere uvageE fEEE Tt st feerdi,

Name of the Student:
faarents =

Name of the School :
v A" -

Code No. of the Group :
METET Oiehfass wmais

1)
2)

Mobile No. :
WHUTER-(T ThHieh :

1. The product of two natural numbers is 7497. If the greater number is divided by the
smaller number, the quotient is 17 and the remainder is zero. What are the numbers ?

29 JEiiies WA= YU 7497 ST, =TT HiSwT SEaeT SET ey 9T

SHAT ARTERTT 17 AAT F WTehT 970 I, 77 =37 ST ShIUTeT ?

2. Find the value of :
fehae =mT1aT.

V729 +\729 - (1728

\/0.0064 +1/0.0484

3.  The area of a circular ground is 12474 mZ. It is to be fenced with three rounds of wire.
Find the length of the required wire in metres. (T = 1;—2]

ThT SgeTeh T HeTAT=T 8thes 12474 =it 4. 3. wm farrer anr R daurstaars

AR 9% TEHUT fardt et amr e ? (T = %1
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11.

Five consecutive multiples of 3 are such that it the fourth multiple is divided by four and
3 is added, the result is equal to half of the second multiple. Find the smallest muitipie
of them.

Fr 3 O SO UTE SOET €T STEA. e 9iedT §Een 4 WRE S
qrTrETE 3 fusfasr sraaT JUTHT §EaT, T SEETHeeRA TS gEaT Saaeal (e

STE. =7 =7 UTe SaEaitent Saia oaT- SEAT Shiorat 2 | 1
N2 -1 |
If Dl od "% b7Z Find the value of (a - b).
\I\I:; 1 =a + b2 aT (a-b) = fohua =rer.
-+

The height of a cylindrical tank is 1.5 m. and its diameter is 1.4 m. |
How many litres of wateritcanhold ? (7 = % )

FETadT=aT AT Uzt fagrat 3967 1.5 tﬂé‘rmg;rammuthz'tm. /=T
fuure et Sex oot wrEs 72 (M= z?_:}

15x2 - 26xy + 7y2 = (5% - 7y) (m); Find the value of m.
m =t fehae =hTar.

x and y are positive integers greater than 2and V(x-1)(y+2) = 7 then
find the values of x and y.

X FTOT y & 2 Team WIS &= quiteR 3G V(x-1)(y+2) = 7 &
x 3rifuT v =4 fehadt e

A racing car travels at an average speed of 175 km/h for first 28 laps. It stops for one
minute and then completes the last 12 laps at an average speed of 180 km./h. If the
whole race takes 35 minutes, how far is one lap ?

TTEsIeAT vradd Uk TET ufger 28 TuAte staT wowEdt arsht 175 faL . e O
=, et 1 fafye gigs sraes 12 oo goad anwir 180 far. . S qui shed. =T
wigut gt 35 fafaera got sneft aﬁﬁmnﬁﬁmiﬁh.ﬁ.mm ?

The ratio of two numbers is 3 : 4 and their HCF is 4. Find their LCM.

2wt quiteT 34 g W w.EnE. 4 e
% waT .. 4. e |

A session starts at 10a.m. and lasts till 1.15p.m. Four periods are held during this
interval. After every period 5 minutes are given free to the students. Find the exact
duration of each period.

FeRTET 10 FTSET GE ST S gURT 1.15 wda SreE. 9 ST 4 aifdent g,
weireh aTfaeR=raT 5 fafret=n gt g2t fa=t =m.
AT Ueles arfaehar shteragr feRdr ?
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14.

15.
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17.

10 years ago the average age of a family of 4 members was 24 years. In that family, two
children have been born with age difference of 2 years; but the present average age of
the family remains same. Find the present age of the youngest child.

ET Juigal 4 AIOTATEAT UshT SheaTs TOAd 99 24 94 g4, &7 Sheard 19 gerr=m
S SATAT ST SrE=Aa1 =479 2 Jai« 367 e; WMWWWWM
ATe; € Fad SgT o o fehdr ? '

. —_ L -1_ L L
If 2* = 4v = 8t and = 4¥+ =

W= =gafr e L+

then find the value of z..

3§y z =0 fohae e,

A person invested a sum of Rs. 2600 in three parts at 4%, 6% and 8% p.a. simple interest
respectively. At the end of one year he got same interest on all the three investments.
Find the amount invested at 4% p.a.

UEhT HIUTHT UEhUT 2600 F9F 19 9T e gehd 4%, 6% T 8% 20T O
ST Yaaet. FEAET =Fre fadl SrTiat qur =3 faster. a0 = 4% g0 fandt
T&FhY Tadacit ?

A and B together can do a certain work in 8 days. B and C together can do the same in
12 days and A, B, C together can finish the work in 6 days. In how many days could it be
done by A and C together ?

A smfur B 2 fag uss = 8 feawma got =mtame. B sufor C 2 fae= 3= & 12
ferarama gut sstara. == A, B arfor C far fas d=r =v1w 6 feaama dufaare. ac A smfor
C <o fagg =1 =vr fandt faaara qut ssedrer ?

25

Find the area of the following figure

UETeT SATEhd = S9hss Shial. 15 28

8

The frequency table of the ages of 50 students in a class is given below.
Find their mean age.

Rt aidter 50 faameatear aarh aramar gt g2 Tt ene.
=T ORUTES T O5T =hial,

Age 11 yrs. (=) 11 yrs. (=) 11 yrs. (a¥) | 12 years
TT |4 months (|fgY) |6 months (wfEX)| 5 months (afg)| =€
Frequency
R — 15 16 1.2 7
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A shopkeeper gives 10% discount on the printed price to the customer and sells a sari
with 4% loss. The printed price of the sari is Rs. 4000/- If the discount is not given, how
much profit would he earn ?

T&h TSN UTBShTell BIUIeT fehaatar 10% 92 259 Ush |ret fashar 921 =rem 4%
AT BT, =T WISt wTdter fehma 4000 F. 3. =X = TSNS TEasTe ST
e fo= 718 a¢ e fadt g TwmTEEe ?

L

Write the following set in Roster form :
gater W AT aag et feTar. ‘f={x;’x=—:;-,nEN, n <4}
In the given figure mZA = (2x+15)° and

mZBCD = (4x-15)°
Find numerical measure of ZDCE ?

fae=rear sRdE mZA = (2x+15)° anfor

B ——
mZLBCD = (4x-15)° 2 =
AT £DCE = SishTe9=h WY =H1ET.
Find the value of 102+ 117+ 122+ 132+14%
fehaa =mteT. 365
Find the measure of the angle whose complement is 10% of its supplement.

UEhT ShITeAT SHITEeh TSl U1 SITeAT YTahah IT=AT JIqT=aT 10% 371X,
T TT ShAT WY SHaT.

In a circle with centre P, seg PT L chord AB. The diameter of the circle is 13 em.
and {(PT) = 2.5cm. Find the length of chord AB.

P eh% STHOIaT UShT AdeaTa T PT L frar AB.
0(PT) = 2.5 |HY snifoT SgesTar =arw 13 AHt 19Ty Sar AB =t wifa =h1aT,

p 3 A S 0 PQRS is a square.

Find the area of the shaded region.
B 10 0 PQRS &1 HTH T8 Sasardrer TEifere qrmer
4 RS =haT.
Q

A In the given figure, line ¢ || line m
25° ¢ observe the figure and find mZABC.
B faere s el || Tar m
115 HTehdl= THLI80T ShiT SATAT m L ABC ZhTaT.
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